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20198 = =34 2 3l

M1 X 201989 % A - M= 0iasSH & SAHEZ LA NLE = A= HOH2 UsH 20 (ol M)

+ =2 Ng - HE0&tEN 2 Al Xt Bt N
g A 187,243,597 5,617,308
& B3 Al 162,056,914 4,861,707
SEE3A 25,186,683 755,600
JIEtSE 3 25,186,683 755,600
o/=220II2 378,384 11,352
FHZ M ALY 532,265 15,968
= 23,964,061 718,922
Xl 6k == 22 289, 199 8,676
gHAFHIS XM 22,774 683

M2 N -AHz oae BAes €8 "MY - NS ol 20,

Mo 3 & eI Oidldl= 2,714,5458 @22 &Lt
M4 & e XN MY =H2 1,400,008 222 8L,
o5& XNEHEE MA7ZH1E SAREN 2As J=28/0 Za= ZH, SLEMUAN SELR20 A=s ALY 2
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